## Construction division. Advice for giving credit to contractors/suppliers.

Sl. N	o. – site bills	85	2		Date Regis	- site bil	lls	04/0	01/2022
	pany Name:				Site:				1.R
	e of Contractor		111						
	re of work		ip Ro	1					
	k done	From De	c (cu	Hi,	11 .	To	Date	1.1	1. 1 1
SI.				Rate	110/	Units	Amou		2/2021 Contractors
No.	Villa/Flat/block no	O. Qty.		Rate		Omts	Allou		bill no
1.	F-Block fl	A 8	3	48	25 F	flats	38,	600  -	
2.	wi- 302, 305								
3.	402,405,501,	506						1	,
4.	601,606								
5.	, , , , , , ,								
6.									
7.									
8.									
9.		1							
10.	Ž.								
11.		otal:						600/-	
Bill	required	YES :	√NO.		GST	bill requir	red	□ YES E	₹ <b>NO</b> .
1	surement &	□ Requi				urement &	1	Enclos	
	nate sheet: WO no.	□ Not re	quired	-		ate sheet: O date:		□ Not en	closed
		1							
Rem	arks: All w	orles	compl	cte	d				
	5	v					,		
App	roved by Project Ma	mager	Approv	ed by	y Desig	gn Team	Appr	oved by	M.D.
Date	: 06/1	THE	Date:				Date:		
Sign		/	Sign:				Sign:		

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

ESTIMATE SHEET	Т					
Company Name:	MRMallapurLLP				À	7
Project:	Gulmohar Residency				Simple real by.	Naili prasad
ork Description:	Work Description: Core cutting bill of F-block				olgn:	
Contractor:	Dilip ranjan					
Prepared By	K.Srikanth					
Date:	04.01.22					
S No.	Item Head	Itam Dasariation				
		noticing second priori	Quantity	Units	Rate	Amount
	FI.					
-	I-DIOCK		48.00	Nos	300.00	14400.00
	05,402,405,501,506		24.00	No's	275.00	6600.00
	601,606		24.00	No's	250.00	6000.00
		5" hole in beam	16.00	No's	375.00	6000.00
		4" hole in beam	16.00	No's	350.00	5600.00
						38,600.00
	Rates are considered as per circular id number-835(D)	circular id number-835(D)				

di. 23 Sept 21

MEASUREMENT SHEET  Company Name: MRMallapurLLP  Project: Gulmohar Residency						Approved I	Approved by: Sign:
escription:	ock	ock	ock	ock	ock	ock Sign:	
Contractor: Dilip ranjan							
Prepared By K.Srikanth							
Date: 04.01.22							
			A	A B		В	ВС
S No. Item Head		Item Description	L,	Length W	Length Width He	Length Width Height 1	Length Width Height Nos C
1 F-block		Core cutting					
F-302,305,402,405,501,506	1,506	1,506 <b>5"</b> hole in slab		5" hole in slab	5" hole in slab 1,00	<b>5"</b> hole in slab 1.00 1.00	<b>5"</b> hole in slab 1.00 1.00 1.00
601,606		4" hole in slab	4" hole in slab 1.00		1,00	1,00 1.00	1,00 1.00 1.00
		3" hole in slab	3" hole in slab 1.00		1,00	1.00 1.00	1.00 1.00 1.00 24.00
		5" hole in beam	5" hole in beam 1.00		1,00	1.00 1.00	1.00 1.00 1.00
		4" hole in beam	4" hole in beam 1.00		1.00	1.00 1.00	1.00 1.00 1.00
	1 1						

## Bill for Labour Charges

Dilip ranjan, Orissa.

Date: 04.01.2022

In favor of:

MRMallapurLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Core Cutting.

Towards:

Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards core cutting work done in F-302,305,402,405,501,506,601,606 flats at F-block. Total Amount = 38,600 /- Work done from date 10.10.21 to date 20.12.2021	Rs.,15,440/-

Amount in words: Fifteen Thousand Four hundread Fourty Rupees Only.

Sign: Delip Ranjan

## Bill for Equipment Allowance

Dilip Ranjan, Orissa.

Date: 04.01.2022

In favor of:

**MRMLLP** 

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Core cutting bill.

Towards:

Allowance for Equipment

S No	Description	Amount
S No.	Brief description of work done: Towards core cutting work done in F-302,305,402,405,501,506,601,606 flats at F-block. Total Amount = 38,600 /- Work done from date 10.10.21 to date 20.12.2021	Rs.,15,440/-

Amount in words: Fifteen ThousandFour Hundread Fourty Rupees Only.

Sign: Dilip Ranjan

## **Allowance for Consumables**

Dilip Ranjan, Orissa

Date: 04.01.2022

In favor of:

MRMallapurLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Core cutting work

Towards:

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards core cutting work done in F-302,305,402,405,501,506 flats at F-block. Total Amount = 38,600 /- Work done from date 10.10.21 to date 20.12.2021	Rs.,7,720/-

Amount in words: Seven Thousand Seven hundred Twenty Rupees Only.

Sign: Dolize Ranjan